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[Ea 1,224,348
ME=g= 13,529 13,529
308 AXIHS0IA 13,529 13,529
08 WEI|20UetEx 13,529 13,529
OJIzusE30=28 Es80 ZHIFE=S
13,529,000& 13,529
HASN 11,990,236 9,574,660 2,415,576
= 9,592,188
= 1,199,024
o 1,199,024
301 EetE NS 11,990,236 9,574,660 2,415,576
= 9,592,188
= 1,199,024
o 1,199,024
01 Al E2E A S (2 REXMR) 11,990,236 9,574,660 2,415,576
OJIEMAHBOl 2SALHDN L8
A2 11,990, 236,000 11,990,236
= 9,592,188
= 1,199,024
o 1,199,024
SHAE NSO 117,951 89,712 28,239
= 94,361
= 11,795
= 11,795
301 EtE N = 117,951 89,712 28,239
= 94,361
= 11,795
s 11,795
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FA F2US
M HASS M X
el MASs =X A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OJMARIE L2XR AE
75,438,000& 75,438
= 60,350
< 7,544
T 7,544
NaSE MY gst =HI= 3,306 3,306 0
= 661
[Ea 2,645
301 LEtE N = 3,306 3,306 0
= 661
o 2,645
02 NBI2HHSFS(HAAS, NLHE) 3,306 3,306 0
ONASE alQY st =412 X2
3,306,000& 3,306
< 661
Ea 2,645
NaSIHE SEXNEH 93,400 93,400 0
= 28,020
o 65,380
101 @124H| 93,400 93,400 0
= 28,020
o 65,380
04 JIZtN2Z2 XS+ 93,400 93,400 0
ONAS Xat2HS SEXNE At
93,400,000 93,400
< 28,020
[Ea 65,380
S ZOAMS (ZELE SE3|H) 36,902 36,530 372
= 29,522
== 5,904
[Ea 1,476
Ardl2te] MEHA OHA (22l AFHI) 36,902 36,530 372
= 29,522
=S 5,904
s 1,476
101 21AH| 36,902 36,530 372
[ 29,522
= 5,904
Ea 1,476
04 JIZtN22 XS 2+ 36,902 36,530 372
O2ASSUAIZCIAF Q124H|
36,902,000& 36,902
[ 29,522
= 5,904
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2A:

M Zoje SXNSH
Rl ZOHR! AtRIEO! EHH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 29,623 29,623 0
= 20,736
== 2,606
[Ea 6,221
05 2ItRIE = 29,623 29,623 0
OZoilasxz Jtes0 X2
29,623,000 29,623
= 20,736
== 2,666
o 6,221
Zoie!l =<0 X 160,000 160,000 0
= 48,000
= 112,000
307 elztol & 160,000 160,000 0
= 48,000
Ea 112,000
05 212+ =S 140,000 140,000 0
OZ =01 X2 A
140,000,000& 140,000
== 42,000
o 98,000
11 AMEISXAEEES 20,000 20,000 0
O E=R0l el wSH|
20,000,000 20,000
= 6,000
o 14,000
2N A K& 69,600 69,600 0
= 48,720
= 10,440
= 10,440
307 elztol & 69,600 69,600 0
= 48,720
< 10,440
s 10,440
05 2ItRIE = 69,600 69,600 0
OggMaatlA X 69,600,000 69,600
= 48,720
< 10,440
[Ea 10,440
LEHQ FHESHHIA X 622,840 622,840 0
= 435,988
== 93,426
[Ea 93,426
307 212+01& 622,840 622,840 0




SA: FoI=X D
M Zoje SXNSH
Rl ZOHR! AtRIEO! EHH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 435,988
=S 93,426
s 93,426
05 git?(& = 622,840 622,840 0
OLLRMNQ FABSAHUIA Xg
622,840,000 622,840
= 435,988
= 93,426
o 93,426
220 BT HSAHEIAXE 71,859 71,859 0
= 50,301
= 10,779
o 10,779
307 @120l & 71,859 71,859 0
= 50,301
= 10,779
[Ea 10,779
05 2I2tRIE =S 71,859 71,859 0
OHAE 2SR LS HEMUIA
71,859,000 71,859
= 50,301
= 10,779
o 10,779
OIS XIZME 29 112,000 106,000 6,000
=S 33,600
s 78,400
307 21201 & 112,000 106,000 6,000
< 33,600
[Ea 78,400
11 AMEISXAEEES 112,000 106,000 6.000
OIS KIAHE 29
112,000,000 112,000
= 33,600
= 78,400
ZHOHQ! EHOAILXIREEH 2HX2 65,000 65,000 0
=S 13,000
s 52,000
307 @I2t01 & 65,000 65,000 0
== 13,000
[Ea 52,000
11 AMRISXAEEES 65,000 65,000 0
OZMAEASE J=X3AME 2
65,000,000 65,000
= 13,000




2A:

M Zoje SXNSH
Rl ZOHR! AtRIEO! EHH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 52,000
BXI1J] w2 (Zohel) 1,775 2,49 NT24
= 1,420
e 355
301 2eEN= 1,775 2,49 AT24
= 1,420
s 355
01 A2 HSHS(RNEERTH) 1,775 2,49 NT24
OZ0fe!l BXD1D] WRAY
1,775,000 1,775
= 1,420
Ea 355
ZONUERDD| WEAE & BoLH| K& 4,000 11,400 AT,400
== 1,600
o 2,400
301 2= 4,000 11,400 AT,400
< 1,600
= 2,400
02 MBI 2HHSFHS(HAANS, XLHE) 4,000 11,400 AT,400
OFONQl SEID| U HojEl| X
4,000,000& 4,000
= 1,600
Ea 2,400
SSTONAUMICH Ateli2el XI& 45,000 42,000 3,000
== 13,500
o 31,500
307 212+01& 45,000 42,000 3,000
[ 13,500
T 31,500
11 AMEISXIAEEES 45,000 42,000 3,000
OZSZHAMICH Atel2el X
45,000,000& 45,000
= 13,500
[Ea 31,500
el SXAIE X 2,815,517 2,586,633 228,884
= 1,308,592
= 300,881
o 1,206,044
oA FAIE 2 K& 1,868, 142 1,812,193 55,949
= 1,307,699
& 168,133
= 392,310
307 glztol & 1,868,142 1,812,193 55,949
= 1,307,699




2A:
X XH -
o e

=aak

Ofl &F2H

MEE
Ofl &k2h

A H

168,133
392,310

10 AlRISXIAIEEE

OZL HFALE 2

02 08

1,868, 142,000

HoH W

1,868,142

1,868,142
1,307,699
168,133
392,310

1,812,193

55,949

HoH W

1,488
893
178
417

2,770

A1,282

307 212t01™

HH W

1,488
893
178
417

2,770

N1,282

10 Al SXAIEEHE2EHI2x
OZOAANFAIE SOIFED| dEXS

1,488,000

HoH W

1,488

1,488
893
178
417

2,770

A1,282

O HFAIE ORIZ2EN AdH

M H

7,300
2,190
5,110

7,300

307 212t01d

M H

7,300
2,190
5,110

7,300

kA

10 MEISXAIEHE2EHIE
| O 2

OHOM! HFEAIE OF2A2 R

|

224y

7,300,000

M

7,300

7,300
2,190
5,110

7,300

ZUA=KIAIE SA==E

A H

130,000
31,200
98,800

130,000

307 212t01™

M H

130,000
31,200
98,800

130,000

10 MEISXAIEHE2EHIEX
A
=

OBMHLIAFAIE, MEAE EAX =
104,000,000

EUNGE

130,000

104,000
31,200
72,800

130,000




2A:

M Zoje SXNSH
Rl ZoHe! SXAE X (SH9 H2)
SA - B BRA(SH) - HRA - of v e HIDE2
OBMI=NAE ABIZRA HHSE
24,000,000& 24,000
OZMASXAIE Al2IS XA E=1ISH|
2,000,000 2,000
O XISAt2HEAIE X 373,314 361,770 11,544
[ 36,720
T 336,594
307 glztol & 373,314 361,770 11,544
= 36,720
= 336,594
10 Al SXAIEEHE 22X 373,314 361,770 11,544
OHUMALLO0ISAALH 2
106,200,000 106,200
= 6,120
o 100,080
OAIZEHel F2HESA 2
109,500,000 109,500
== 25,470
= 84,030
Ox=0iS9ut 29 157,614,000 157,614
= 5,130
Ea 162,484
OISR 2(HEH) 28 X 238,320 227,200 11,120
== 48,000
o 190,320
307 212+01& 238,320 227,200 11,120
< 48,000
= 190,320
10 AlRISTIAIEEE 22X 238,320 227,200 11,120
OZMAU=SXME 2 238,320,000& 238,320
= 48,000
= 190,320
ZOHRIS K2 () NS 10,400 10,400 0
=S 3,120
s 7,280
307 @12t01 & 10,400 10,400 0
== 3.120
[Ea 7,280
10 Al2ISTIAIEEE 22X 10,400 10,400 0
OZOHA=SRI2H(AE) SALL =&
10,400,000 10,400
= 3,120
= 7,280
OB MHEAL 28 KIS 178,753 0 178,753




2A:
X XH -
o e

=aak

by
A& XIE

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

A H

9,000
169,753

307 212t01™

M H

178,753
9,000
169,753

178,753

178,753,000

M

178,753

178,753
9,000
169,753

178,753

ZOHAXSTHE AL SAEL =& X

A H

7,800
2,340
5,460

7,800

307 212t01™

M H

7,800
2,340
5,460

7,800

10 Al SXAIEEHE2EHI2x
A

OZMAXSMHEAIE SAN=E K&

7,800,000

EUNGE

7,800

7,800
2,340
5,460

7,800

MW

3,351,820
2,324,763
384,418
642,639

3,308,789

43,031

oz
2
e
e
oy

MW

2,650,171
1,885,120
238,515
556,536

2,720,723

AT70,552

Mo W

2,650,171
1,885,120
238,515
556,536

2,720,723

AT70,552

01 AR 2EHSFS(RRNEXRTHE)

OFeIAS 2,650,171,000&

H H W

2,650,171
2,650,171
1,885,120
238,515
556,536

2,720,723

AT70,552

H H W

347,138
242,997
72,899
31,242

193,221

153,917

347,138

193,221

153,917




2A:
PSER
o e

el

by
te X1

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

HoH W

242,997
72,89
31,242

347,138,000

MW

347,138
347,138
242,997
72,89
31,242

193,221

153,917

MW

198,275
138,792
41,638
17,845

156,172

42,103

Mo W

198,275
138,792
41,638
17,845

196,172

42,103

198,275,000&

Mo

198,275
198,275
138,792
41,638
17,845

156,172

42,103

M

28,800
8,640
20,160

29,810

A1,010

M

28,800
8,640
20,160

29,810

21,010

, NEHE)
28,800,000

MO

28,800
28,800

8,640
20,160

29,810

A1,010

ZoH 2=l X

HH W

107,986
86,389
15,118

6,479

100,656

7,330

0

308 AbXIE

JIS01&

>

0

HoH W

107,986
86,389
15,118

6,479

100,656

7,330

107,966,000

Mho

107,986
107,986
86,389
15,118

100,656

7,330
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2A:
X XH -
o e

=aak

by
te X1

SA - Z3F - SRA(E) - HRAEY

- HyS

Ofl &F2H

MEE
Ofl &k2h

5,000,000&

M

MO

5,000
2,500
2,500

5,000
1,500
3,500

M H

3,000
1,500
1,500

2,550

450

M

3,000
1,500
1,500

2,550

450

Mo

3,000
3,000
1,500
1,500

2,550

450

Mo

1,

409,517
704,759
211,428
493,330

1,067,455

342,062

0

OH

e
ne

Ael K&

HH W

—

,409,517

704,759
211,428
493,330

1,067,455

342,062

ZOHQI LRI X & (SR X2l)

HoH W

262,59
131,298
39,390
91,907

218,952

43,643

101 e124d|

MW

258,343
129,172
38,752
90,419

214,700

43,643

04 JIZtN2 2 XS E

OEM! SXLXIAY 12

4

258,343,000

Mo W

258,343

258,343
129,172
38,752
90,419

214,700

43,643

MW

4,252
2,126

638
1,488

4,252




SN OISR D
S Zojoraexel 2E
ol ZoHe! el XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 4,252 4,252 0
OFONQ! SXLTZIAY 2SSt
4,252,000& 4,252
= 2,126
== 638
= 1,488
o LT 2 XI& (L LRt2l) 857,570 739,612 117,958
= 428,785
[ 128,635
T 300,150
101 @124H| 857,570 739,612 117,958
= 428,785
== 128,635
o 300,150
M ORNZZ2NSE S 857,570 739,612 117,958
OFNel LBEUTI2! Al
857,570,000 857,570
= 428,785
s 128,635
s 300,150
ZOHQI L Kt  XI& (AR Xt2]) 177,452 96,555 80,897
= 88,726
=S 26,618
s 62,108
101 ©1AH| 177,452 96,555 80,897
= 88,726
= 26,618
[Ea 62,108
04 JIZtN2 2N SE+ 177,452 96,555 80,897
OXOHl AIZFMIE ] Ared
177,452,000 177,452
= 88,726
= 26,618
Ea 62,108
LETHALALZS AL BXRAS 111,900 0 111,900
= 556,950
= 16,785
Ea 39,165
101 @12A4H| 111,900 0 111,900
= 55,950
= 16,785
= 39,165
M OIRINZZE2NSE S 111,900 0 111,900
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